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GENERAL INSTRUCTIONS TO THE EXAMINEES

1.

el UM ST YR UF UR MG Sfaria: fored |

Candidate must write frist his/ her Roll No. on the question paper compulsory.
T U & He Sifand 2

All the questions are compulsory.

UJd YT BT IR o1 T8 SeRyRaaadt # 8 fod |

Write the answer to each question in the given answer Book only.

S vl @ 3ridRae @ve 8, 39 91 & U3 & SR U AT B fored |

For question having more than one part, the answers to those parts are to be written

together in continuity.

Ued UF & 3=l g IS ®URY # {6 UbR & Ffe /3R / fREm ™« 8 iR Bl
AT & YT P FBl AN |

If there is any error/difference/contradiction in Hindi & English versions of the question
paper, the question of Hindi versions should be treated valid.

ge BT SR e 4 Yd Yz &1 HHib Haey o |

Before writing the answer to the question, you must write the serial number of the

question.

U ¥ 23 AFRE B ¥ He6ftid 21 3R 4 3fd BT 2|
Question No. 23 is related to map work and carries 4 marks.

UeT . 21 ¥ 23 9o ¥ 7dRe APy 2|

Question No. 21 to 23 have internal choice.



Yrs—3d
Section- A
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Multiple Choice Questions -

9. 1. 9 gl & SR &1 981 ey o9 aR) STRYRKaT # fafau |

Write the answer to the following questions in the answer book.

(i) 1Tl g=faw wwsiiar &9 gar, —

(31) 5 STFTERT 1930 @) 5 w1 1931
() 15 ST 1931 (@) 5 AT 1930
When was Gandhi Irwin pact finalised ?

(a) 5 January, 1930 (b) 5 march, 1931
(c) 15 January, 1930 (d) ) 5 march, 1930

) = TR K& & oRIH HH a—
(a7) STaTERAT B (@) Vo HSET
(F) HBTAT el (@) wra s

Who wrote the book ‘Hind Swaraj’ ?

(a) Jawaharlal Nehru (b) Nelson Mandela

(c) Mahatma Gandhi (d) Bhagat Singh
() faegeamdy snfdes w41 @1 YwId 83 —

(31) 1919 (d@) 1929

(%) 1935 (@) 1933

The great depression began around -
(a) 1919 (b) 1929
(c) 1935 (d) 1933
(V) “IRT &1 UBST oilg Ud S¥TT HA= FHET <enfud gar?

(1) Fra% (@) SFREYR



(H) SrBHGET () 9IBRI

Where was India’s first iron and steel plant set up -
(a) Mumbai (b) Jamshedpur

(c) Ahmedabad (d) Bokaro

(V) s9TTet TTSie 3T &1 awre- fhaet fhaar?
(@1) ar= BRewa (@) SFF IRTH fadan!
() TSI M AIET - (8) TITER Yeerar
Who edited the Bangal Gazette newspaper ?
(a) Warren Hestings (b) James Augustus Hickey

(c) Raja Ram Mohan Roy  (d) Gangadhar Bhattacharya

(V1) TRA ¥ DRI Gl awe 272

(&) g @) v 3l

(|) TodeA (®) <71 Tl

Which party system is there in India ?

(a) Multy party (b) One party

(c) Alliance (d) Two Party
(vn) |t favTer srftimiera: STenRa T 8—

@) Ig =R (@) g9 W

(%) aRar wR (@) S W}

Mostly social divisions are based on -

(a) Death (b) Dynasty

(c) Family (d) Birth

(vm) Fgfe urct @) faemar 32—

(1) IS T

@) 31 PR NUART & TR IAolIdd A< IR UHIMEHR F9Y IR 3 |
() anfeew srHFar (]) JISIa=1 &7 FHH

Characteristic of the communist party is —

()



(a) Social inequality

(b) Accepts economic reforms but maintains a monopoly or political power

(c) Economic inequality (d) Support to monarchy
(1X) ST AN HT A BROT 5 1
(31) SRISHTRY (@) srf¥em
(&) T (&) 379 & ®Ig e ()
The root cause of consumer exploitation is -
(a) Unemployment (b) Iliteracy
(c) Poverty (d) None of these
() uroT &S # Bol BT SRR §EId: At Bl 8 — 1
(31) smama (@) B SR @ forg
(@) fager a=m @& fou (@) wiRaiRa® ama & forw ()
What is the main reason for the need of credit in rural areas -
(a) Accommodation (b) For crop industries
(c) For foreign tour (d) For family income
(xi) TegfafTem e se 11 § 9 RS =1 T % ®9 H W e 872 1
(@) = () = TeeR
(®) fte sres (<) w2 ()

Which of the following is used by the aluminum smelting industry as a raw material?

(a) Sugarcane (b) Limestone
(c) Iron Ore (d) Bauxite
(xn) F=1 & 9 i fafi= et i e gy S i TR i afwar &2 1

(1) frstentor (@) TR

() et (]) SR ()

Which of the following is a process of mutual relations and rapid integration between
different countries?
(a) Privatisation (b) Nationalisation

(c) Globalization (d) Liberalization



g2 Raa wI= @1 qfd siforg —
Fill in the blanks -
(i) s fataed g/ o T fame . % AR T qEE o T | 1

The advertisements made by Indian manufacturers became the vehicle of the
nationalist message of ........ccccceveveeveeenes

() TRa & A<l &1 o ST arel SIfHE A | ST ST 2T 1
Labourer sent from India to foreign countries were knownas ..............

() & BT ST B ST Tl fhar S FhEdTl” A IR T w8 1
Religion can never be separated from politics ................. said these words.

(IV) ST BT BT oo 3T 1 HET ST & | 1
The average income is also called ............. income.

(V) IRA H BT (FAIE) oo ST BT B | 1
<ee...........1ssues currency notes in India.

(V1) TRT H TfIa BT LT SUARDT feasd A9R=IT Il 2 | 1

National Consumer Day is celebrated every year in Indiaon .............
9. 3. INAGHRIIE Tl & IR (P ¥ AT (& ufeh 3 dfork—
Very Short Answer Type Questions — (Write the answers of the questions in one word
or in one line)
(i) 1880 % TETR H I A ! AT T AT M F IR H foras areft 7RI i < Aieensii &
=™ fafe | 1

Name two women of Maharashtra who wrote about the miserable lives of upper-
caste women in 1880s.

(i) “vo fasa gg Ul ARAH ENFTE Jg o1 | $Ig U HROT fAIfey | 1

“The first world war was the first modern industrial war.” State any one reason.

(ii) snfe — SiEFfidERT & oMy w1 FHed &7 1
What do you mean by proto-industialisation ?

(iv) S &1 T TN 87? 1
What is the use of jute ?

(v) oU®d SR 918 Ud+T &1 Udh SUR 9w | 1
According to you, state are measure to prevent floods.

(vi) UR fH b &° 1
What is trade ?

(vii) &= T R B ? 1
What are regional parties ?

(viii) BT ® DI & AT 18U | 1

State any two advantages of democracy.

(ix) draa o1 a1 AT farg | 1



State two challenges to democracy.

(X) d&a =R SR fd wed 27? 1
What is gross demostic product ?

(xi) I &= | MU AT FAIT 57 1
What do you understand by tertiary sector ?

(xii) T T fidre fresh g1 genifem 1 It 22 1
Who publishes the Human Development Report ?

gvs—9q
Section - B

AERIGTD T — U ¥, 04 ¥ 16 & SN oy (¥reg €T 50 ¥
Short Answer Type Questions — Write the answer from Q.4 to Q.16 ( Word limit : 50 Words)

Y4, THFGER FTT? 2
What is romanticism ?
U5 scd 4S9 9Hsial T 7 2
What is the Bretton Woods agreement ?
U6 el STl 91 Bl 87 Blg &1 Sar8xvT QIfof | 2
What are vulnerable species ? Write any two examples.
U7 9g9eg URAGHRI & &1 ™ a8y | .
State two advantages of multipurpose project.
U8 d R W wad fhd dEd 87 2
What is Rabi and Kharif crops ?
U9 UM T FRIT AR # 3R W BN | 2
Explain the difference between local and international trade.
10 Jrbad H Al AN ®i Iaead § ? 2
Why is there a need of power sharing in democracy ?

A1 59 UeR aEIfSe SRl & dldds g3 8l & ? 2
How does democracy strengthened with social differences ?

U412, S99 FHE IR AR H 3R AR | 2
Explain the difference between pressure group and movement.

13 3N fqa™T @ 87 ufd <afth 3m iR IR 3 &7 gy for | 2
What is economic development ? Write the definition of per capita income and national
income ?

14 el RSN IR gz~ RISFR # fave ST | 2

Distinguish between open unemployment and disguised unemployment.

W45 HGT SMARABARIT & Qe HANT Bl ELIHAT P FHG PR <l 8 |
T DI | 2

“Money solve the problem of double coincidence of wants.” Explain.



.16

ST ST Tehfedl 1 TSEH H HT Tohd § 2 Z
By what means can the consumers express their solidarity ?

gurs—YH

Section - C

X ST U - 9e 17 ¥ 20 > SR farfaw | (3rs dm 100 ¥s)
Long Answer Type Questions — Write the answer from Q.17 to Q.20 ( Word limit : 100 Words)

917

.18

U.19

U.20

SERATE g dE &7 fagan fofau | 3
Write the features of liberal nationalism.
A fed off e § qeaget gfier frmd 217 1 9 9 9q=T | 3

Resources play an important role in any development . Give any three arguments.

IR § ot # Sifa’ 3R CSIfa @ srex YoiHIfa” B /T 31T §9 B | H8Ad 87
Pl dF db IfomT | 3

There is caste in ‘politics’ and ‘politics in caste’ in India. Do you agree with this statement.
Give any three arguments.

YR ¥ 3T T AT 87 0 YT g9 el HRb a8y | 3
What do you understand by globalization ? State the factors that make this possible.

Yrs—q
Section-D

FeeTee gee— U9 21 | 22 & SR fafay (v dhm 250 vR)
Essay Type Questions — Write the answer from Q.21 to Q.23 ( Word limit : 250 Words)
4. 21 fafu= Temifas wa1 gee Feifas & ara W #=& s gu 97?

H.22

3T

IRl | DR ITSANT Jarer b UhR <8I # ff bt 127 ? 4

Why did political leaders differ sharply over the question of separate electorates ?
OR

How did the non-cooperation movement spread from the cities to the countryside?

Hede a1 8 ? 39! &g RISl S |aHsisy |

AT
MR I aRell & faf WR dF-39 | 8?7 396 69 &I Uihar 9d18U 4

What is federalism ? Explain its main features.



OR
What are the different levels of local government system ? Explain the process of its

formation.

¥. 23 U9 &I SR fed I "Hfaa # AR |

o T RT & e qaEfaE § AEfarflad &1 sifed ST

CICEIE (@) RTeHeT
(®) TR (<) TR
3T
(1) =T (@) FTHH
(%) gume () e 4

Answer the question in the given map —

Mark the following in the given outline map of India.

(a) Vadodara (b) Rawatbhata

(c) Tutikorin (d) Gandhinagar
OR

(a) Beawar (b) Amarkantak

(c) Sundargarh (d) Tumkuru



